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	Assignment No. 5  
Semester Spring 2012
Data Communication - CS601
	Total Marks: 20
Due Date: 04-07-2012

	Objective: To understand the concept related to the error detection mechanism. 
Instructions:
Please read the following instructions carefully before solving & submitting assignment:

Assignment should be in your own wordings not copied from net, handouts or books.

It should be clear that your assignment will not get any credit (marks) if:
· The assignment is submitted after due date.

· The submitted assignment does not open or file is corrupt.

· The assignment is copied (from other student or copied from handouts or internet).
· Student ID is not mentioned in the assignment File or name of file is other than student ID.
For any query about the assignment, contact at cs601@vu.edu.pk
GOOD LUCK

	
	  

	Q. 1. Suppose a sender sent a word “assignment” for which the receiver received the following binary:

 “01100001011010010111001101101001011001110110111001101110011001010110111001110100”

By applying the complete process of LRC using even parity, you are required to check that, is the same word received by the receiver or not? Also write the word received by the receiver.

Binary Code

Alphabet

Binary Code

Alphabet

Binary Code

Alphabet

Binary Code

Alphabet

0110 0001

a
0110 1000

h
0110 1111

o
0111 0110

v
0110 0010

b
0110 1001

i
0111 0000

p
0111 0111

w
0110 0011

c
0110 1010

j
0111 0001

q
0111 1000

x
0110 0100

d
0110 1011

k
0111 0010

r
0111 1001

y
0110 0101

e
0110 1100

l
0111 0011

s
111 1010

z
0110 0110

f
0110 1101

m
0111 0100

t
0110 0111

g
0110 1110

n
0111 0101

u
Table 1
HINT: First convert the word “assignment” into binary equivalent with the help of the given table 1.

The LRC calculated by the sender is not appended with the given binary. It is also your task to calculate the LRC by yourself.

Solution

Step 1:

Convert the word “assignment” into its Binary equitant form with the help of the given ASCII table, and calculate LRC of this converted Binary.

Data sent from sender side
Sr. No.

Alphabets

Binary Codes

1

a
01100001

2

s
01110011

3

s
01110011

4

i
01101001

5

g
01100111

6

n
01101110

7

m
01101101

8

e
01100101

9

n
01101110

10

t
01110100

LRC
00010011
Step 2:

Now check the LRC of the received Binary by segmenting the binary into octets (8 groups of binary numbers). You can also convert these octets into its equaling alphabet for further verification, but it is not necessary as you are required to follow the process of LRC.

Data received at receiver side
Sr. No.

Binary Codes

Alphabets

1
01100001

a

2
01101001

i

3
01110011

s

4
01101001

i

5
01100111

g

6
01101110

n

7
01101110

n

8
01100101

e

9
01101110

n

10
01110100

t

00001010
LRC
Step 3:

The calculated LRC (of data sent by sender) in first step is 00010011 and the LRC (of data received by receiver) in second step is 00001010.  By Comparing both LRCs, we have come to know to know that receiver has not received the actual data sent by the sender.


